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|| Chain rule for par-HaJ
decrivahves, ‘

2. Tmplicit dif fere ntiatian,

3. Critical Pain’rs.
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Deri vatives

(@) Case 1: X= x(¢) y=y)

o Z= f(x,y) is a function of xy

o Xz=y(+) , y= 7(() are Function,
- of t. |
o Goal: Find dz/df .

X

(b) Cose 2: x=X(s,¢) Y= y!s,+l

}(y,y) is a funchion of X,Y.

x= x(s8) Y= y(st) are
~ Variables of S and t.
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&) General Case
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| 2 = f(x’n,x‘-;“"x“).
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L = \[F?—_-l-_jz—' - | Fiad'
r= Y t X cos (t) *Yox

s = X4+ Y sinl® a5
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e JIf we can reafrange oM

etiu.a.""ian inveolving ¥ and v,

€3 JX-\/ = |+ sz







Al Hhe ceritceal P@En ‘s of
a S uf .. @ Z = f (X 37) e

raadd have




94 =g (x=1) ¥ 2 (6-x-2y) (=1
IR |
' - =4 + G+ 4y

'3
‘= 2y + 2(6—x=2v) (~2)

= -24 + 64X + IOy

4% + 4y =14

4x + 0y =24

X = "/5 Y.;":‘ ﬂﬁ/é.
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